
Trigonometriska formler

cos2 x + sin2 x = 1

1 + tan2 x =
1

cos2 x

sin(x + y) = sin x cos y + cos x sin y

sin(x − y) = sin x cos y − cos x sin y

cos(x + y) = cos x cos y − sin x sin y

cos(x − y) = cos x cos y + sin x sin y

tan(x + y) =
tan x + tan y

1 − tan x tan y

sin 2x = 2 sin x cos x

cos 2x = cos2 x − sin2 x = 2 cos2 x − 1 = 1 − 2 sin2 x

2 sin x cos y = sin(x + y) + sin(x − y)

2 sin x sin y = cos(x − y) − cos(x + y)

2 cos x cos y = cos(x − y) + cos(x + y)

En primitiv funktion

∫
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I alla utvecklingarna är ξ är ett tal mellan 0 och x.
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